VEW AT POINT END

N.TS.

"
Hrg

1
28
1, DATUM

POINT ASSEMBLY INCLUDES:

[y

71—‘

38/_gﬂ

_O "

r~ico
N

ﬂqg

136" DIA
NN
14 HULES | \ | L\

1%g'e \ o8
Lel

T X . —_—_—_—_—_—_— o ir—

. { | 39/32//

/1 36" DIA.
—7

_.:T»'__g] "

"
9lsy

f—‘ f—s"

6"3%{

i

117 =9lsy"

L

oy X
™o

(¥}

26"0"2”

i

ENLARGED END VIEW
NTS.

116" THK WEB REF.

MACHINE WEB PROFILE
FROM
T0 V" THK  WEB

(=)
(=)
S
>

HEEL SPREAD

1 X3 K45 2 )3
= — > h
~| E] =

1 1II ‘_E gg ::i‘E (Qr;':
16'-94 i | o - %3‘5 .
21'-12" -

26/_5// !
381_9/1

ASSEMBLY DETAILS

STRAIGHT SAMSON POINT RAIL

RIGHT POINT RAL FOR R.H. TURNOUT - GTS 0379 D (ILLUSTRATED)
LEFT POINT RAL FOR L.H. TURNOUT - GTS 0379 C

381_9”

26/_5//

21'-13"

16'—9%”

SPREAD AT
STOP

HEEL SPREAD

-

ITEM STANDARD QUANTITY

NO. | DESCRIPTION PLAN NO. |DWG. No. GTS-0379
1 | POINT STOP 339 N GTS-0330N ,

2 | POINT STOP 339 M GTS-0339M .

3 |BOLT %" X 4-1/4" C/W sQ. NUT | GTS-1305/9 4

4 | SPRING WASHER ¥," 6TS-1301 s

5 |COTTER PN ¥g" X 11740 | - 4

\q

ASSEMBLY DETAILS

CURVED SAMSON POINT RAIL

RIGHT POINT RAL FOR L.H. TURNOUT - GTS 0379 A (ILLUSTRATED)
LEFT POINT RAL FOR R.H. TURNOUT - GTS 0379 B

NOTE: THE FOLLOWING ITEMS ARE NOT INCLUDED IN THE SWITCH POINT ASSEMBLY AND
MUST BE ORDERED SEPARATELY IF REQUIRED.

ITEM STANDARD QUANTITY

NO.| DESCRIPTION PLAN NO. [DWG. No. GTS-0374

8 |ROCKER CLIP ASSEMBLY (352/L) GTS-0352/L 1

7 |ROCKER CLIP ASSEMBLY (352/M) | GTS-0352/M 3

8 |HEEL BLOCK GO 383 TW 6TS-0383 1

9 |1-1/8" X 5-1/2" BOLT - 7 UNC GTS-1308/10 2

10 | SPRING WASHER FOR 1-1/8" BOLT | GTS-1301 2

11 |LOCKNUT FOR 1-1/8" BOLT - 7 UNC| GTS-1302 2

e s s e

NOTES:

-SWITCH CLIPS ARE NOT INCLUDED IN SWITCH POINT ASSEMBLY AND
MUST BE ORDERED SEPARATELY IF REQUIRED.

-WHEN REFERRING TO POINT RALLS, DRAWING NUMBER MUST BE STATED
AS A, B, C OR D TO INDICATE SPECIFIC POINT REQUIRED.

METRIC CONVERSION: 1 inch=25.4mm, 1 foot=304.8mm|
1 |18/07/27| ADDED IMPERIAL TO METRIC CONVERSION NOTE

No. | Date Revision By Approved

Standard ASSEMBLY-UNIFORM RISER DESIGN
38'9" SAMSON POINT RAL-THICK WEB
NO. 16 ALL WELDED TURNOUT
MANUAL SPRING & POWER OPERATED-136 RAL

Drawn Checked Approved
MG RP PP VP Eng:r&eermg & Asset

S  ~~METROLINX

Date SEPT 15,2017 Plon Number o1s_03z79 R 4

REFERENCE: TS—-0379_R3 Sheet 1 OF 1



AutoCAD SHX Text
-SWITCH CLIPS ARE NOT INCLUDED IN SWITCH POINT ASSEMBLY AND

AutoCAD SHX Text
%%uRAIL DRILLING DETAILS%%U

AutoCAD SHX Text
%%uASSEMBLY DETAILS - STRAIGHT SAMSON POINT RAIL%%U

AutoCAD SHX Text
%%uASSEMBLY DETAILS - CURVED SAMSON POINT RAIL%%U

AutoCAD SHX Text
1 " THK WEB REF.

AutoCAD SHX Text
TO  " THK  WEB

AutoCAD SHX Text
14 HOLES

AutoCAD SHX Text
3”"

AutoCAD SHX Text
1Š"

AutoCAD SHX Text
3‘"

AutoCAD SHX Text
5

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
7

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
7

AutoCAD SHX Text
7

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
5

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
11

AutoCAD SHX Text
10

AutoCAD SHX Text
9

AutoCAD SHX Text
8

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
8

AutoCAD SHX Text
9

AutoCAD SHX Text
10

AutoCAD SHX Text
11

AutoCAD SHX Text
 MUST BE ORDERED SEPARATELY IF REQUIRED.

AutoCAD SHX Text
-WHEN REFERRING TO POINT RAILS, DRAWING NUMBER MUST BE STATED

AutoCAD SHX Text
 AS A, B, C OR D TO INDICATE SPECIFIC POINT REQUIRED.

AutoCAD SHX Text
7

AutoCAD SHX Text
7

AutoCAD SHX Text
6

AutoCAD SHX Text
N.T.S.

AutoCAD SHX Text
DATUM

AutoCAD SHX Text
1 "

AutoCAD SHX Text
9 "

AutoCAD SHX Text
6'-3 "

AutoCAD SHX Text
11'-9 "

AutoCAD SHX Text
16'-6ƒ"

AutoCAD SHX Text
17'-3 "

AutoCAD SHX Text
26'-0 "

AutoCAD SHX Text
%%uVIEW AT POINT END%%U

AutoCAD SHX Text
%%uENLARGED END VIEW%%U

AutoCAD SHX Text
N.T.S.

AutoCAD SHX Text
LEFT POINT RAIL FOR L.H. TURNOUT - GTS 0379 C 

AutoCAD SHX Text
RIGHT POINT RAIL FOR R.H. TURNOUT - GTS 0379 D (ILLUSTRATED)

AutoCAD SHX Text
RIGHT POINT RAIL FOR L.H. TURNOUT - GTS 0379 A (ILLUSTRATED)

AutoCAD SHX Text
LEFT POINT RAIL FOR R.H. TURNOUT - GTS 0379 B 

AutoCAD SHX Text
%%uNOTES:%%U

AutoCAD SHX Text
NO.

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PLAN NO.

AutoCAD SHX Text
STANDARD

AutoCAD SHX Text
POINT ASSEMBLY INCLUDES:

AutoCAD SHX Text
QUANTITY

AutoCAD SHX Text
DWG. No. GTS-0379

AutoCAD SHX Text
NO.

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PLAN NO.

AutoCAD SHX Text
STANDARD

AutoCAD SHX Text
QUANTITY

AutoCAD SHX Text
DWG. No. GTS-0379

AutoCAD SHX Text
NOTE:  THE FOLLOWING ITEMS ARE NOT INCLUDED IN THE SWITCH POINT ASSEMBLY AND MUST BE ORDERED SEPARATELY IF REQUIRED. 

AutoCAD SHX Text
1 

AutoCAD SHX Text
2 

AutoCAD SHX Text
3 

AutoCAD SHX Text
4 

AutoCAD SHX Text
5 

AutoCAD SHX Text
GTS-1305/9

AutoCAD SHX Text
GTS-1301 

AutoCAD SHX Text
-------

AutoCAD SHX Text
1 

AutoCAD SHX Text
4 

AutoCAD SHX Text
4 

AutoCAD SHX Text
4 

AutoCAD SHX Text
1 

AutoCAD SHX Text
POINT STOP 339 N      

AutoCAD SHX Text
POINT STOP 339 M       

AutoCAD SHX Text
BOLT ƒ" X 4-1/4" C/W SQ. NUT      

AutoCAD SHX Text
SPRING WASHER ƒ"     

AutoCAD SHX Text
COTTER PIN ‰" X 1-1/4"   

AutoCAD SHX Text
7 

AutoCAD SHX Text
8 

AutoCAD SHX Text
9 

AutoCAD SHX Text
10 

AutoCAD SHX Text
11 

AutoCAD SHX Text
6 

AutoCAD SHX Text
ROCKER CLIP ASSEMBLY (352/L)                                    

AutoCAD SHX Text
GTS-0383   

AutoCAD SHX Text
GTS-1301  

AutoCAD SHX Text
GTS-1302  

AutoCAD SHX Text
GTS-0352/L  

AutoCAD SHX Text
GTS-0352/M  

AutoCAD SHX Text
3 

AutoCAD SHX Text
1 

AutoCAD SHX Text
2 

AutoCAD SHX Text
2 

AutoCAD SHX Text
1 

AutoCAD SHX Text
2 

AutoCAD SHX Text
HEEL BLOCK GO 383 TW    

AutoCAD SHX Text
ROCKER CLIP ASSEMBLY (352/M)    

AutoCAD SHX Text
1-1/8" X 5-1/2" BOLT - 7 UNC          

AutoCAD SHX Text
SPRING WASHER FOR 1-1/8" BOLT   

AutoCAD SHX Text
LOCKNUT FOR 1-1/8" BOLT - 7 UNC   

AutoCAD SHX Text
MACHINE WEB PROFILE FROM 

AutoCAD SHX Text
GTS-1308/10

AutoCAD SHX Text
HEEL SPREAD

AutoCAD SHX Text
SPREAD AT STOP 

AutoCAD SHX Text
SPREAD AT STOP 

AutoCAD SHX Text
SPREAD AT STOP 

AutoCAD SHX Text
HEEL SPREAD

AutoCAD SHX Text
SPREAD AT STOP 

AutoCAD SHX Text
GTS-0339N  

AutoCAD SHX Text
GTS-0339M 

AutoCAD SHX Text
20'-10ƒ"

AutoCAD SHX Text
1‰" DIA.

AutoCAD SHX Text
Ž" DIA.

AutoCAD SHX Text
Ž" DIA.

AutoCAD SHX Text
1 " DIA.

AutoCAD SHX Text
Date 

AutoCAD SHX Text
Rev

AutoCAD SHX Text
Plan Number 

AutoCAD SHX Text
REFERENCE: 

AutoCAD SHX Text
Sheet 

AutoCAD SHX Text
Drawn 

AutoCAD SHX Text
Approved 

AutoCAD SHX Text
Checked

AutoCAD SHX Text
No. 

AutoCAD SHX Text
Revision

AutoCAD SHX Text
Date 

AutoCAD SHX Text
By Approved

AutoCAD SHX Text
Standard 

AutoCAD SHX Text
VP Engineering & Asset        Management 

AutoCAD SHX Text
ADDED IMPERIAL TO METRIC CONVERSION NOTE

AutoCAD SHX Text
18/07/27

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
GTS-0379

AutoCAD SHX Text
SEPT 15/2017

AutoCAD SHX Text
1 OF 1

AutoCAD SHX Text
TS-0379_R3

AutoCAD SHX Text
MG

AutoCAD SHX Text
RP

AutoCAD SHX Text
ASSEMBLY-UNIFORM RISER DESIGN

AutoCAD SHX Text
38'9" SAMSON POINT RAIL-THICK WEB

AutoCAD SHX Text
NO. 16 ALL WELDED TURNOUT 

AutoCAD SHX Text
MANUAL SPRING & POWER OPERATED-136 RAIL

AutoCAD SHX Text
METRIC CONVERSION: 1 inch=25.4mm, 1 foot=304.8mm


	Sheets and Views
	GTS-0379-REV1-Model


